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QUADRATIC EQUATIONS

Mathematical Reasoning

1. The roots of az? + bz +c=0,a # 0 are

real and unequal, if (b2 — 4ac)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AV1IKwIiBbRI

Answer: B

o Watch Video Solution

2. If 2 is a root of the equation

2 +kr+12=0 and the equation


https://dl.doubtnut.com/l/_AV1IKwIiBbRI
https://dl.doubtnut.com/l/_g6YU8xfF0nWZ

z? + kx + g =0 has equal roots, find the

value of q.

A.8

C.16

D. —16

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_g6YU8xfF0nWZ

3. If one of the roots of the equation a(b -c)
2 +b(c—a)xr+cla—b) =0 is 1. then

what is the second root?

N b(c — a)
a(b — c)
5 a(b — c)
c(a — b)
c a(b — c)
b(c — a)
o c(a — b)
a(b — c)
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8SWMyiML7OLv

4. If the roots of the quadratic equation
(@ —bz*+(b—c)x+(c—a)=0 are

equal , prove that b + ¢ = 2a

A2b=a-+c
B.2a = b+ ¢
C.2c=a+b
5 1 B 1 N 1
b a c
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5sc3SOvSFsC8

5. Two students while solving a quadratic
equation in x, one copied the constant term
incorrectly and got the roots 3 and 2. The
other copied the constant term and coefficient
of z? correctly as -6 and 1 respectively. The

correct roots are

A3 —2
B. — 3,2
C.—6, —1

D.6, — 1


https://dl.doubtnut.com/l/_icrPTSyeHzBx

Answer: D

o Watch Video Solution

6. If one of roots of 222 —az +32 =20 is

twice the other root, then the value of a is

A —24/2
B. 8+/2
C.124/2
D. —2+/2


https://dl.doubtnut.com/l/_icrPTSyeHzBx
https://dl.doubtnut.com/l/_UohbyXwFw70c

Answer: C

o Watch Video Solution

7. Determine the value of k for which the
quadratic equation 2z* + 3z + k = 0 has real
roots.
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https://dl.doubtnut.com/l/_UohbyXwFw70c
https://dl.doubtnut.com/l/_I0xy3AJdxaaT

Answer: A

o Watch Video Solution

8. Roots of the quadratic equation

2° +x— (a+1)(a+2) =0are

A —(a+1),(a+2)
B.(a+1), — (a+2)
C.(a+1),(a+2)

D.—(a+1), — (a+2)


https://dl.doubtnut.com/l/_I0xy3AJdxaaT
https://dl.doubtnut.com/l/_invrwgswbCfK

Answer: B

o Watch Video Solution

. The roots of the

3\/973—#5(:13)_% = 4/2 can be

solving

A 922 + 282 +25 =0
B.9z% + 30z + 25 = 0
C.92%2 + 28z — 25 =0

D.16z2 + 222 — 30 =0

equation

found by


https://dl.doubtnut.com/l/_invrwgswbCfK
https://dl.doubtnut.com/l/_iLe9GF7jXqBA

Answer: A

o Watch Video Solution

10. The roots of the quadratic equation

2 — 8 1
22120 = 5 are
A £3
B. £2
C.+6

D.+4


https://dl.doubtnut.com/l/_iLe9GF7jXqBA
https://dl.doubtnut.com/l/_fQJRdICDuNYU

Answer: C

o Watch Video Solution

11. Two numbers whose sum is 12 and the
absolute value of whose difference is 4 are the

roots of the equation

Az2—122+30=0

B.z2 — 122 + 32 =0

C.222 —6x+7=0

D. 222 — 24x 1+ 43 = 0


https://dl.doubtnut.com/l/_fQJRdICDuNYU
https://dl.doubtnut.com/l/_9hiLfUZKhIyD

Answer: B

o Watch Video Solution

12. The roots of the

2 1
r3 +x3 — 2 =0are

Al —8
B.1, — 2
21
"3’ 3

equation


https://dl.doubtnut.com/l/_9hiLfUZKhIyD
https://dl.doubtnut.com/l/_Tlgm3MCaDY5g

Answer: A

o Watch Video Solution

13. If the roots of the equation

z(x —1) — (m+1) T
= — are equal, then
(z — 1)(m —1) m

what is the value of m ?

Al
2

B°_§

C.0


https://dl.doubtnut.com/l/_Tlgm3MCaDY5g
https://dl.doubtnut.com/l/_R8hWny6D4mPD

D. 1

Answer: B

o Watch Video Solution

Everyday Mathematics

1. In a bangle shop, the shopkeeper displays
the bangles in the form of a square then he is
left with 38 bangles with him. If he wanted to

increase the size of square by one unit each


https://dl.doubtnut.com/l/_R8hWny6D4mPD
https://dl.doubtnut.com/l/_lKXTJkRAwItT

side of the square he found that 25 bangles

fall short of in completing the square. The

actual number of bangles which he had with

him in the shop was :

A. 1690

B. 999

C. 538

D. Can't be determined

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lKXTJkRAwItT

2. In the Maths two representativesm, while
solving a quadratic equation, committed the
following mistakes :

(i) One of them made a mistake in the
constant term and got the roots as 5 and 9.

(ii) Another of x and got the roots as 12 and 4.
But in the meantime, they realised that they
are wrong and they managed to get it right

jointly. FInd the corrent quadratic equation.

Az?+4r+14=0


https://dl.doubtnut.com/l/_lKXTJkRAwItT
https://dl.doubtnut.com/l/_GnN0d9jDuvLh

B.222 + 7Tz — 24 = 0
C.x? — 14x + 48 = 0

D.3z° — 172 +52=0

Answer: C

o Watch Video Solution

3. ¥ 6,500 were divided equally among a
certain number of persons. Had there been 15
more persons, each would have got ¥ 30 less.

Find the original number of persons?


https://dl.doubtnut.com/l/_GnN0d9jDuvLh
https://dl.doubtnut.com/l/_EKSt46G6BYmY

A. 50

B. 60

C.45

D. 55

Answer: A

o Watch Video Solution

4. Swati can row her boat at a speed of 5
km/hr in still water. If it takes her 1 hour more

to row the boat 525 km upstream than to


https://dl.doubtnut.com/l/_EKSt46G6BYmY
https://dl.doubtnut.com/l/_Gu1HAFdlgrrc

return downstream, find the speed of the

stream.

A. 5km/hr

B.2 km/hr

C.3 km/hr

D. 4 kmm/hr

Answer: B

° Watch Video Solution

Achievers Section Hots


https://dl.doubtnut.com/l/_Gu1HAFdlgrrc

1. Which of the following equations has two

distinct real roots?

9
Amﬁ—&ﬁx+zzﬂ)
Bz’ 4+2z—-5=0
Cz+3z+2/2=0

D.5z2 -3z +1=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_N4mhNJHALwC5

2. Read the statement carefully and state T

for true and 'F' for false.

1
(i) The value of 2 + — s V2
2 +

24+ ...00

(i) A line segment AB of length 2 m is divided
at C into two parts such that AC* = AB. CB
. The length of the part CB is 3 + /5.

(i) Every quadratic equation can have at most
two real roots.

(iv) A real number a is said to be a root of the
quadratic equation az®+bz +c=0, if

aa’ +ba+c=0


https://dl.doubtnut.com/l/_jQsV9e3PpwEr

T 1 11T v
A'F T T T
T 1t 1T v
B'F T T F
T 1T 1T v
C'T F F T
D'F F T T
Answer: A

o Watch Video Solution

3. The denominator of a fraction is one more

than twice the numerator. If the sum of the


https://dl.doubtnut.com/l/_jQsV9e3PpwEr
https://dl.doubtnut.com/l/_rLTQuV42s0JS

fraction and its reciprocal is 2ﬁ, find the

fraction.
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Answer: A

o Watch Video Solution
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